Multiple Choice
10 points 

	Question Can you have more than one listener responding to a Swing component's event? For example, can you have more than one listener for a button-down event? 

	Answer
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  Yes 

  No 




True/False
10 points 

	Question The jar utility is delivered with the JRE. 

	Answer
	True
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False



	Correct Feedback
	The jar utility is delivered with the JDK 


Multiple Choice
10 points 

	Question Which layout manager would you use to position a component along one of the four edges, or the middle, of its container? 

	Answer
	  FlowLayout 
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  BorderLayout 




Multiple Answer
10 points 

	Question An applet is disallowed to perform certain runtime operations -- this is part of java's applet security called the "sandbox". Select the operations that applications are allowed to do that applets are NOT allowed to do. 

	Answer
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  File I/O 
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  Reading system properties 
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  Making a network call 

  Drawing a graphic on the screen 




True/False
10 points 

	Question An applet's main entry point is start(). This is invoked by the browser the first time an applet is loaded into the browser's memory. 

	Answer
	True
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False



	Correct Feedback
	init() is invoked by the browser the first time an applet is loaded into the browser's memory 


True/False
10 points 

	Question An applet can be loaded from a jar file. 

	Answer
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True

False




Multiple Choice
10 points 

	Question You use the getParameter() call within your applet to read an HTML parameter that is passed in from your applet's HTML page. Name the HTML tag used to specify that parameter. 

	Answer
	  CODE 

  SCRIPT 

  MAP 
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  PARAM 




